AES B2 o= N &R &

I R gl Al i & HAL L M &= ax EHE i
t=15cmlT|
SHEERREREE LT AftEhOIRT m 132. 85 133
t=5cm
SRR U L m 86. 30 86
A T TR A 86.3m X0.05=4. 315m m 4.3 4
S AL LB 4.3mX2.3=9.89t =9.9 ¢t t 9.90 10

e dHo M-25

SHET NN t = 3cm m 86. 30 86
AR E T A 2 L 20F
=ET t=5 cm nm 86. 30 86 17T A4 ha—hk
AR E T A 2 L 20F
HET(—X—11) t=5 cm m 8. 10 81X v/ a—h
T LT
W= (F8E))
XM E (MO L) W=45cm m 28. 07 28
W= (F8E))
XM E (MR oA W=45cm m 3.00 3

REERE AZEE B B A+ H 16. 00 16




HFIR 2 o2 N W’ &
1%

I R gl Al i HAL L M &= ax EHE i
t=15cmlT|
SHEERREREE LT AftEhOIRT m 312. 56 313
t=5cm
SRR U L m 242. 30 242
A T TR A 242. 31 X 0.05=12. 115m m 12.1 12
S AL LB 12.1m X2.3=27.83t =27.8 t t 27.80 28

e dHo M-25

SHET NN t = 3cm m 242. 30 242
AR E T A 2 L 20F
=ET t=5 cm nm 242. 30 242 VST A ha— |k
AR E T A 2 L 20F
HET(—X—11) t=5 cm m 24. 80 25 1 X v a— |
g v bR R AR R
T LT KRR E (- T OH) 15cm AKX m 534.9 535
~Nq v bR R AR SRR
XM E (MO L) 15cm HEHXH m 57.00 57
Wt (F#Eh)
KEHERE BB OR) W=45c m m 68. 30 68
Wt (F#Eh)
XM E (MR o H) W=45cm m 7.30 7
v ARV ST DFT 1. 00 1

REERE AZEE E B A+ H 32. 00 32
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I R gl Al i HAL L M &= ax EHE i
t=15cmlT|
SHEERREREE LT AftEhOIRT m 76. 52 77
t=5cmblL T
SRR U L m 42.6 43
A T TR A 42.6m X 0.05=2. 13m m 2.1 2
S AL LB 2.1mX2.3=4.83t =4.8 t t 4. 80 5

e dHo M-25

SHET NN t = 3cm m 42. 60 43
AR E T A 2 L 20F
K& T t=5 c¢m m 42. 60 43 17T 4 La—k
i
g v bR R AR SRR
T LT KRR E (- T OH) 15cm AKX m 67.6 68
~q v bR R AR SRR
KR E RO R) 15cm AKX m 7.20 7

REERE AZEE B B A+ H 8. 00 8




3 =4 =3 =B
R I T | Hm il H ¥ HAL L B o= X EHE i
t=15cmll|
SHEERREUE LT AlEERR DI m 26. 12 26
t=5cm
BT R L m 11. 40 11
B A T A 11. 4 X0.05=0.57m m 0.6 1
SRS AL 0.6m xX2.3=1.38t =1.4 t t 1. 40 1
e H M-25
HET N t = 3cm m 11. 40 11
HABRLE T A 21 L 20F
=E T t=5cm nm 11.40 1117794 La—F
A v bR MEG EAIR SER
&L KEERE (- FDR) 15cm HEHXH m 22.5 23
g v bR MEG EAIR SER
KEifRaE (B o) 15cm HEHXH m 2. 40 2
s (FE)
KHEFRERE (MR o 7) W=45c m m 63. 6 64
s (FE)
KHFRERE (MR o7 W=45c m m 6. 80 7
TEEHE AZHFHE E B A+ H 6. 00 6
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HBERERE /INEHRAE 5y [=] 64 64 1EIOBEIL1. 4R




SR | AREUINT | SHISRRIRE L | SRR L | v R — I Tt I L SEgiES
T t=5cm t=30cm t=5cm t=15cm EEHE (A (b)) | B GERD
[m] [m] [ni] [ni] [T [m] W450[m] | ®FpeiE ®%5 #JB5+ILIES | O~ =143
e
A1 8. 00 4. 00 4.00 4. 00
a2 5. 64 2. 00 2. 00 2. 00
A3 8. 00 4. 00 4.00 4.00
BE 1 8. 00 4.00 4.00 4.00
Bt 2 10. 15 11.90 11. 90 11. 90
Bk 3 5.50 4.00 4.00 4.00
Bt 4 10. 40 11.30 11. 30 11. 30
Bk 5 7.36 3. 60 3. 60 3. 60
il 8. 20 4. 00 4.00 4.00
Ei 2 7.20 3.20 3.20 3.20
[ 5. 45 3.10 3.10 3.10
Ei 4 5. 64 2.00 2.00 2.00
¥ 5 5. 64 2. 00 2. 00 2.00
E4 6 8. 00 4.00 4.00 4.00
INEL 10. 20 6. 80 6. 80 6. 80
ENEEP 10. 20 6. 80 6. 80 6. 80
e 9. 27 9. 60 3.0 9. 60 9. 60
gl 1 0.00 0.00 8.10
il 132. 85 0. 00 86. 30 0.00 0. 00 0. 00 3.00 86. 30 86. 30 0. 00 8.10
R
ER 1 8. 68 4. 60 4. 60 4. 60
i 2.3 0. 00 0. 00 24. 80
1 8. 00 4.00 4.00 4.00
EZi 8. 00 4. 00 4.00 4.00
EP) 7.25 3.50 3.50 3.50
EZE) 6. 46 3.70 3.70 3.70
EZI 8. 40 18. 20 18. 20 18. 20
EZi 7.25 5. 30 5. 30 5. 30
PR 15.07 21.10 8.50 21.10 21.10
rIE2 8. 00 4. 00 4.00 4.00
FOPNE 5. 64 2.00 2.00 2.00
BN 2 8. 00 4. 00 1 4.00 4.00
BN 3 5. 64 2. 00 2.00 2.00
BN 4 7.05 5. 60 5. 60 5. 60
BN 5 8. 00 4. 00 4.00 4.00
PN 7.07 3. 40 3. 40 3. 40
BN T 9.13 8. 30 8.30 8.30
Eewial 17.92 16. 80 2.0 7.3 16. 80 16. 80
52 8. 80 4. 00 3.1 4.00 4.00
433 9.08 4. 60 3.1 4.60 4. 60
-4 F4~14]  133.32 110. 00 34. 1 110. 00 110. 00
-4 315 15. 80 9.20 6.2 9.20 9.20
B 312.6 0.0 242.3 0.0 1.0 57.0 7.3 242.3 242.3 0.0 24.8
K 1 7.66 6. 90 4.2 6. 90 6. 90
K 2 8. 00 4. 00 4.00 4.00
K 3 5. 64 2. 00 0. 20 2. 00 2.00
KH 4 7.40 4. 00 1.40 4.00 4.00
K 5 7.40 4. 00 1.40 4.00 4.00
KH 6 8. 00 4. 00 4.00 4.00
KH 7 8. 00 4.00 4. 00 4. 00
kH 8 8. 42 5.70 5.70 5.70
KH 9 8. 00 4. 00 4. 00 4. 00
mi 8. 00 4.00 4.00 4.00
& 76. 52 0. 00 42. 60 0.00 0. 00 7.20 0. 00 42. 60 42. 60 0. 00 0. 00
Kl
R OK) 8.28 4. 80 6. 80 4.80 4.80
Sz (k) 6. 56 2. 60 2. 40 2. 60 2. 60
L (k) 5. 64 2.00 2.00 2.00
BRI (k) 5. 64 2.00 2. 00 2.00
B 26. 1 0.0 11.4 0.0 0.0 2.4 .8 11.4 11.4 0 0.0
&k 548. 1 0.0 382. 6 0.0 1.0 66. 6 17.1 382. 6 382. 6 0.0 32.9
MG B R R
foke = H 28 A =0 B — o
R ﬁfﬂgvfjr TR AR (/3 B
n HEZ | GD s 17 3 6 2 2 14
T T ) THIE 1 3 1 2 - 2
HEZ | GD s 16 3 6 2 2 14
REER [ -V (D) s 1 5 1 2 - 2
TRz 15 2 8 2 - 16
EiEE 10 4 3 2 2 8
B [ THEX 0 2 0 2 - 0
T=n" =14 0 5 0 2 - 0
S ETE= ¥4 4 3 2 2 2 6
&5 64 4 A 25 H 62 A\




